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H= A=
BETEEIN A A ETEE
It EET 7% & I —— % B
& GRT 7k o nEE 7 - B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [£3] 4H -1 -50 x 3Sx -3 500 11
2 it 1t 2H = 110 x INT +1 -120 6
3 ,?ﬁ [£3] 3NT +2 460 1t 4H = 420 1
4 WE=] [£3] 3HXx = 730 [ri] 6C -1 100 12
5 |gEltl = 3NT | +1 630 [£7] 3NT | +1 630
6 panyiie] 1t 3D -1 -50 [ri] 3S -2 200 6
7 E=] [ri] 4S +2 -680 [ri] 6S = -1430 13
8 TS [ri] 3NT +3 -490 x 3NT +1 -430 2
DATUMSit T
A IAEM iRFKIE Y. X+ 32 19
B /B5F XPhRER/ERIE T ait 32 19
B IR B /R FERHIT/5KE V.P. 14.68 | 5.32
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1t : &N R XE 1t : 5K xR BEE
% BRA 74 : RN R ;AR 7g : iR
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS x INT = -90 x INT -2 100 5
2 it x INT = -90 x 2D = -90
3 panyiie] [ri] 4Sx -2 500 x 5Dx -3 800 7
4 WE=] [ri] 3NT +2 -660 [ri] 3NT +2 -660
5 |mat] 46 | as | = | 620 | 4t | 4s | = | 620
6 g x INT +1 -120 x INT +1 -120
7 WE=] [£3] 2C +1 110 [£3] 2C = 90 1
8 TS 1t 3NT = 400 1t 2H +3 200 5
DATUM%it I
ERAERPA b Tz y. S+ ] 6 12
BEIN/ERE 5Ky /e Aait 6 12
BEE/ETR NERTERIX, V.P. 758 | 12.42




